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Note: (i) All the 32 questions in both the section ‘A’ and ‘B’ are compulsory.
(ii) Marks for questions are indicated against each question.

(i1i) Question No. 1 to 5 and 17 to 21 are very short answer type questions carrying 1 mark each.
They are required to be answered in one sentence or within 20 words each.

(iv) Question No. 6 1o 10 and 22 to 26 are short answer type questions carrying 3 marks each.
Answer to them should not normally exceed 60 words each.

(v) Question No. 11 to 13 and 27 to 29 are also short answer type questions carrying 4 marks
each. Answer to them should not normally exceed 70 words each.

(vi) Question No. 14 to 16 and 30 to 32 are long answer type qustions carrying 6 marks each.
Answer to them should not normally exceed 100 words each.

(vii) Answer should be brief and clear to the point and above word limit be adhered to as far as
possible.

(viii) Start from the first question and proceed to the last. Do not waste time over a question if you
cannot solve it.
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ErEg — “3A° (Section - “A’)

1. e sfaea @ gferm QR 1
Define microeconomics.

2. [T 9Egel ¥ @ Al 7 1
What 1s meant by normal goods ?

3.0 F AN F R OPNERE GUF R AT aREOITaTS B ? 1
Is ‘law of demand’ a qualitative statcment or quantitative statement ?

4. TR & P9 9 ¥ 1@ B WA WeR Fe 1 Reifa gt & 2 1
Under which market form, a firm is a price taker ?

5. M GTd S SR T gA 9d1 g 7 1
What is the formula of finding marginal cost (MC) ?

6.  IeureH YRITGAT YT &) IJAURYT BT YA gR1 | Siforw | 3

Explain the concept of production possibility curve with the help of a diagram.

7. Yafam gm usf¥fa @il 6 s Swafiar a9 aiffeas &Y 8, oia S Suaifiar

< Bl 3
Efmw with diagram that total utility (TU) is maximum when marginal utility (MU) is zero.
8.  @raciR Wi F41 ' ? W | 3
What is elastic demand ? Clarify.
9. fm aiferer & gof aifore— 3
sHISUl 1 2 3 4 5
T IwAfiar (3618 ) 50 90 — 140 150
W suaifirar G&E %) 50 — 30 — —
Complete the following table —
Units ] 2 3 4 5
Total Utility (in units) 50 90 — 140 150
Marginal Utility (in units) 50 — 30 —_ —
JAGT (OR)

IR B DI ATV DI WL FHIRAT |
Explain the concept of production function.

10. Yol WA vd vaifSar 3t <or ¥ U W o oftaa A o AW s Yl 3
yefta ol | 3

Draw average revenue (AR) and marginal revenue (MR) curves of a firm under perfect competition
and monopoly.

11, SR 936 o fagwansii &1 avfa s | 4

Discuss the properties of indifference curve.
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12, Rer @ITdl T4 IR @rTdl @ S e} qdisd | TAF B Q) IRy AR 4
Distinguish between fixed costs and variable costs. Give two examples of each.

13.  3rcudlel F WG AN @5F U’ SR 3 i B © 7 4
Why the MC curve in the short run is “U’ shaped ?

14. dexuar wFfRA @@ & ? SRAE on A o aERar 9 Swien S@qaa @ v
HHAEY | 6
Define an indifference map. Explain the conditions of consumer’s equilibrium with the help of the
indifference curve analysis.

15. gfitt @t vra | @ RAf Sftrl o v g we i | 6
Explain with diagram various catagories of price elasticity of supply.

16. =1 aiferer & vo Yanfra w1 fmfor o gen agem @ el St - 6
g 3 H) 10 15 20 25 30
T (3518 o) 100 80 60 40 20
qfdf (E@1g A) 20 40 60 80 100
Draw a diagram from the following table and find the equilibrium price —

Price (in %) 10 15 20 25 30
Demand (in unit) 100 80 60 40 20
Supply (in unit) 20 40 60 80 100
JA4T (OR)
semfeeR o @ ad € ? swa vl o aasd |
What is the meaning of oligopoly ? Explain its features.
Evg — ‘9’ (Section—*B?)

17. & =g gomeli &1 21 SEl aaqgul hitp:/www.ukboardonline.com 1
Give two drawbacks of barter system.

18. =uR® J@ & <1 wa Srat B gangd | 1
Write two important functions of commercial banks.

19. afX A ST gy 0.80 2, A Mwr g9a w9l wan @R ? 1
IfMPC is 0.80, what will be MPS ?

20. 4R SUHRT Wafd @ wu H Y e @1 93 qaEd | 1
Give the formula of investment multipleir in term of MPC.

21.  gfe < Srer & fag 2130 o smavadar &, @ v @ fifSma ev garsy | 1
If T 130 are needed to buy two Dollar, what is exchange rate for rupees ?
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22.  gAfe spfeme @t W@ fAduaRi &1 S ST |

Mention the important features of Macroeconomics ?
23, W P THII YATE DI ARAT DY | 3

Explain the circular flow of the income.

Ll

4T (OR)
wie a1 yarg o 3 Igev 9fita we i |

Clarify the meaning of stock and flow with example.

24, IO 9Rgai Td SOITT avqgall @ 4 SRR qargd | 3
Distinguish between consumption goods and capital goods.

25.  faedh fafma == &1 @ar st & ? Rer vg wRad=eier fafrg == # areR sasd | 3

What is foreign exchange rate ? Distinguish between fixed and flexible exchange rate.

26, YTAF WA W & §Y9 9 I1g¥d HRl 1 a1 3 @ ? g wWal B A1 9arewyr vty 3
What is meant by visible and invisible items in balance of payment accounts ? Give two examples of
invisible items.

27. 999 UG & FRIGRYT BT IIERVT TGN GHINEA | 4

Explain the working of investment multiplier with the help of example.

28. quic & a1 ek B ? wgfd @ ure @1 g9 # AR qarsd | 4
What is budget ? Distinguish between balance and deficit budget.

29. TR grer AR Ior "Ier & 4" Ia] 9aqrsd | 4

Distinguish between *fiscal deficit’ and ‘revenue deficit’.
30, ®=g P S TG BT D AT BT | 6
Explain the main functions of central bank.

3. sl & AUR W EHd TS SR @ aeIR & W01 Hifere— 6
(i) FA Wl IAUR @ER o) 50720 HS T
Gi) e 4 wd gg qeE A 2400 TS T
On the basis of following data, calculate GNP at market price—

(i) GDP at market price 50720 crores ¥
(ii) Net factor income from abroad 2400 crores ¥

JerAT (OR)
TG AT T A g fafy @ e AR |

Explain the Expenditure method of estimating National Income.

32. B ARISHIRY | 31T T |H & 7 gUi ASTR &1 T Hifog | 6

What do you mean by involuntary unemployment ? Explain full employment.
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